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Questions	
   Answer	
  
	
  
	
  	
  1)	
  	
  	
  	
  	
  In	
  three	
  innings	
  a	
  cricketer	
  scored	
  45	
  runs	
  60	
  runs	
  and	
  15	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  runs.	
  What	
  was	
  his	
  average	
  score?	
  
	
  

	
  

	
  

	
  	
  2)	
  	
  	
  	
  	
  Find	
   5
7
of 63

	
  
	
  

	
  

	
  
	
  	
  3)	
  	
  	
  	
  	
  Simplify	
  5a	
  –	
  3	
  –	
  2a	
  +	
  7	
  
	
  
	
  

	
  

	
  
	
  	
  4)	
  	
  	
  	
  	
  Write	
  3.6	
  x	
  103	
  as	
  an	
  ordinary	
  decimal	
  
	
  

	
  
	
  

	
  	
  5)	
  	
  	
  	
  	
  Find	
   121 	
  
	
  

	
  
	
  
	
  	
  6)	
  	
  	
  	
  	
  How	
  many	
  5c	
  pieces	
  in	
  $1.75	
  
	
  

	
  
	
  
	
  	
  7)	
  	
  	
  	
  	
  If	
  10%	
  of	
  the	
  price	
  is	
  $7.50,	
  what	
  is	
  the	
  price?	
  
	
  

	
  
	
  

	
  	
  8)	
  	
  	
  	
  	
  Evaluate	
  2 1
2
+15
6
	
  

	
  

	
  

	
  
	
  	
  9)	
  	
  	
  	
  	
  How	
  far	
  would	
  you	
  travel	
  in	
  20	
  minutes	
  if	
  you	
  travelled	
  at	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  120	
  km/h?	
  
	
  

	
  

	
  
10)	
  	
  	
  	
  	
  Find	
  8%	
  of	
  $7000	
  
	
  

	
  

	
  


